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6x2=12
1)FinanndY,if 2¢ + 3y = [2 3} and 3z + 2y = { 2 _2]
4 0 -1 5
2) 5 4 1 2 1
fA" = | -1 2|and B= {‘1 ) 3},thenﬁndAT—BT.
0 1
3)If {a+4 3b] = {2(1—&—2 b+2 ],writethevalueofa—Qb.
8 —6 8 a—8b
. "2
4 For a 2 x 2 matrix A = [a;], whose elements are given by a;; = (Hj]) , write the value of ap; .
5) —2z+y -3
Find the values of x,yand z, if [z +y+ 2| = 3
T+y 3
2 1
6) Find matrix X ,if Y = 3 and3X +Y = 0 .
1 4 -3 2
6x3=18
7 Simplify cos@[ CO.SH Sme] + sin 6 [Smg _FOSH}
—sinf cosf cosf sinf
8) THy+2 9
Find the values of x, y and z, if T+ z =15
y+z 7
9) cosx —sinz 0
Let f(z) = | sinz cosz 0| Show that f(x) f(y) = f(x +y).
0 0 1
10)pp 4 — [ 3 ﬂ,showthat:A2—5A+7I:0.
1) 1 -2 3 23
If A= andB= |4 5|, then find AB, BA.Show thatAB # BA.
-4 2 5
2 1
D a= |3 2| anar=|1 |, findksothat : A> = ka — 21
4 -2 0 1
6x5=30
13) 1 1 -1 1 3 1 2 3 4
IfA=12 0 3|,B=]| 0 2| andC= [2 0 o *1 ] find A(BC), (AB)C and show that
3 -1 2 -1 4 a
(AB)C = A(BC).
g 0 1 and l = Lo , prove that (al + bA)® = a®l + 3a’bA.
00 0 1
15) [1 2 2
IfA=]2 1 2|, then show that A%2-4A -5I=0, and find AL
12 2 1
16) 1 3 2
IfA=|2 0 —1 |,then showthatA3-4A2-3A+111=0
1 2 3
17) 2 4 -6

Express thematrix A= |7 3 5
1 -2 4

as the sum of a symmetric and skew symmetric matrix.



18)

Using elementary transformation, find the inverse of the matrix A = and use it to solve

= N 0o
N
N = W

the following system of lines equations :
8x+4y+3z=19

2x+y+z=5

X+2y+2z=7






